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A1 Shape A is similar to shape B A2 Shape C is similar to shape D A3 Do some calculations to A4 The two triangles are similar 

 
Work out the value of x. 

 
Work out the value of x. 

work out if the rectangles are 
mathematically similar. 

 

 
Work out the value of x. 

B1 Shape E is similar to shape F B2 Shape G is similar to shape H B3 Shape M is similar to shape N B4 Shape P is similar to shape Q 
The area of E is 30 cm2 

 

Calculate the area of F. 

The area of G is 210 cm2 

 

Calculate the area of H. 

The height of M is 12 cm. 

 
Calculate the height of N. 

The width of Q is 14 cm. 

 

Find the width of P. 

C1 Cylinders A and B are similar C2 Cylinders A and B are similar C3 Cuboids A and B are similar C4 Cuboids A and B are similar 
Cylinder B is 1.6 times as high as 
cylinder A. 

 
Calculate the surface area of B. 

Cylinder B is 1.4 times as high as 
cylinder A. 

 
Calculate the volume of A. 

The volume of A is 250 cm3. 

 
Calculate the volume of B. 

The surface area of B is 1000 cm2. 

 

Calculate the surface area of A. 
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Work out the value of x. 

The area of E is 30 cm2. 

Calculate the area of F. 

The width of Q is 14 cm. 
Find the width of P. 

The height of M is 12 cm. 
Calculate the height of N. 

AN = 24 cm2 AM = 54 cm2 

Are the rectangles mathematically 
similar? 
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The area of G is 210 cm2. 

Calculate the area of H. 
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Cylinder B is 1.4 times as high as 
cylinder A 

Calculate the volume of A. 
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The surface area of B is 1000 cm2. 
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